il
W
St
%
I

1. THE4
THE4 BTN 6 - EE R L
T4 JES TR BE R T IE RO T i 50 ~ S AR IR VT T B HH ZE T i
2. THEHNE
1)  HEI4 S BT S P —R
2) £ I & MR TR
3) T i 365 H [ H A T4 48 1H
= SFn 84 3H31H
4) TEyE

[E-Amd T ET R




il
W
>
%
I

TH4 | B0 6 R R T3
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RIHERE = 1 30, 350, 540
XA G T = 1 2, 350, 000
BX AR 2 1 2,350,000 |ERZ RS 1 =
R T = 1 13, 427, 695
PEBARRE T = 1 13,427,695 |BREL 337, 900 m2
£ 6, 600 m2
£ 39, 500 m2
FE 344, 500 m2
FE 39, 500 m2
FEIA - f7EE 384, 000 m2
TEHE (BEBABRED) 44, 100 m2
TEWE GEBABRED 339, 900 m2
AT = 1 308, 850
PARBRAR T2 = 1 308, 850 |{RkA-{X4T (HA) 1, 500 m2
AR (e 1)
PEREE = T = 1 930, 174
A T Y 1 45,280 |#mH! 20 m3
0 ERRDISN ONRRD) B EHELISS)
2 = 1 122,900 | B&{A (FLt8) Bk + 20 m3
2. bmATH ;
A4k 1 F2V
(EAL)
AT T HREE T (1559 HL) = 1 651,418 | & )R Bk 10 m3
15
Im% 8 X 2mAii 18-8-40 (B IF) ;
BAMA 4 m3
(15 & Sy A Hfek)
FE)Tyv47740~0 5
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TEHEX Sy - THE - R B {7 % & il pall 2! R
W H U BG4S 10 m2
(158 Sy )
t=10 ;
e 2V 31,976 |HEVavs)-} 7 m2
15
18-8-40 (FHF)  av))— g R HI E
oL 2 55,550 |¥5f 5 m3
100kg A b /1 ;
s ¢ = 23,050 |48EEEA 1 £
2t (BHAERERD BEAM ;
R T = 970, 600
TA7 7 Ml T =X 970, 600 | T/E &ML (FE - BJEH0) 400 m2
BAI7yv477 RC-30 41: £V E 100mm ;
g (I - BIF ) 400 m2
AR EET A2/ (13) &H%EE 40mm 3. Omid ;
HEEWHE L 2 6,941, 871
EELT = 64, 872
OOEINAHE T = 2,060,560 | TATIE 359 m
Iy ) LB (A)
IHEIEM) 2 O HHEIE~IE R 359m & o—tiv Mevsn
B 1 X
BEA Y NLE
HHh 7548 T = 51,920 | B HiFsE (A) 2 m
Wrim f&1E T 2 173,800 |/Z'H T.i% 0.04 m2
Wi &1 (A)
0. Im35K3H & Vo—tA/ VeVhY R L - BRATES
S LER A
/) =47 my ) T (577 vy /5R) = 4,292,894 |[E7 nysik 120 m2
15
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150kg/ AT #22.350 HH Hef A2 18-8-40
() Ky
H Hi 6 m2
(R%n7" vy )58)
TEF S B i t=10 ;
IRSANANAS 2 50 m
s EEE L T Y 1 183,725 |av))-MEEMHUE L 25 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 1 114,100 | ZRiEHE 25 m3
/) -k (BERR)
RISy 25 m3
20—k (SRR
Y EE T = 1 183, 650
Bk E T =Y 1 183,650 |15H 1% 5 It
s L Y 1 3,702, 020
JEESRALERE T Y 1 3,702,020 | HEEESRALE 192, 000 m2
Bl PRHERS T w05 300 m3
HERE BB ST ULE (Bt ) 280 m3
SN AL T =Y 1 1, 505, 920
IEALBREE T Y 1 1,505,920 |5k 1 =
A Y 1 29, 760
B EHT = 1 29, 760
s = = 1 560, 700
el = 1 560, 700
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TERXSy - THE - R Hofr % & #E il bl EN

&g 2y 560,700 |15 EiFav))-} 30 m
BT EE X 30, 911, 240
B RER =X 2, 663, 000
e TE: = 375, 000
B BREYGEY, (G L) =X 375, 000
Hom e (RFkL) =X 2, 288, 000
T X 33, 574, 240
B FR =X 11, 175, 000
N i X 44, 749, 240
— R A =X 8, 050, 760
Tk X 52, 800, 000
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